

EL PARÉNTESIS

1. COMPLETA:

$$80 + (35 - 10) = 80 + \underline{\quad} = \underline{\quad}$$


$$55 - (25 + 10) = 55 - \underline{\quad} = \underline{\quad}$$


$$(25 + 16) - 4 = \underline{\quad} - 4 = \underline{\quad}$$


$$(100 - 20) + 7 = \underline{\quad} + 7 = \underline{\quad}$$


2. MARCA LA OPCIÓN CORRECTA PARA QUE EL RESULTADO SEA EL QUE INDICA LA OPERACIÓN:

$$71 - 61 + 10 = 0$$

$$46 - 30 + 16 =$$

3. UNE CADA OPERACIÓN CON SU RESULTADO:

$$3 + (5 - 1) + 6 =$$

$$6 + (3 - 2) + 8 =$$

$$(7 - 2) - 2 + 9 =$$

15

13

12